06271 _MFG F# DIN 950 , R O%%k , TEIEFEW

FmiieA

ME

F8 , RO%BH%.
FH, M,

g
REZXTFHIFHMALE,

REFEXK :

NOAERRELBRARLENFR,

DIN 39 / DIN 98

NSRS
X
|

06271-2080X10 06271-3080X10 80 | 10H7 | 25[16|29| -3 | -114 | 3 216 x M6 x 50
06271-2080X12 06271-3080X12 80 | 12H7 | 251629 74 | 4138 | 3 216 x M6 x 50
06271-2100X10 06271-3100X10 100 | 10H7 | 26 [1733| 43 | 114 | 3 216 x M6 x 50
06271-2100X12 06271-3100X12 100 | 12H7 | 26 |17 33| 4 | /138 | 3 216 x M6 x 50
06271-2125X12 06271-3125X12 125 | 12H7 |33 |18 36| /4 | -138 | 3 220 x M8 x 64
06271-2125X14 06271-3125X14 125 | 14H7 |33 |18|36| -5 | /163 | 3 220 x M8 x 64
06271-2140X14 06271-3140X14 140 | 14H7 |33 [19]39| 5 | /163 | 3 220 x M8 x 64
06271-2140X16 06271-3140X16 140 | 16H7 |33 [19|39| -5 | /183 | 3 220 x M8 x 64
06271-2160X14 06271-3160X14 160 | 14H7 |37 |20|40| -5 | /163 | 3 25 x M10 x 80
06271-2160X16 06271-3160X16 160 | 16H7 | 37 |20|40| -5 | /183 | 3 525 x M10 x 80

© norelem www.norelem.com



06271 _MFG F% DIN 950 , & O%54k |

TH=S Eff

06271-2180X16

TS HITERERMA

06271-3180X16

D1

(S
£

& E

FR
DIN39 E #
225 x M10 x 80

3
06271-2180X18 06271-3180X18 180 | 18H7 | 36 |22 |43 | -/6 -/20,8 3 225 x M10 x 80
06271-2200X18 06271-3200X18 200 | 18H7 | 38 |24|45| -6 -/20,8 3 225 x M10 x 80
06271-2200X22 06271-3200X22 200 | 22H7 | 38 |24|45| -6 -/24,8 3 225 x M10 x 80
06271-2250X22 06271-3250X22 250 | 22H7 | 46 |28 |50 | -/6 -124,8 5 232 x M12 x 100
06271-2250X26 06271-3250X26 250 | 26H7 | 46 |28 |50 | -/8 -/29,3 5 232 x M12 x 100
06271-2315X26 06271-3315X26 315 | 26H7 | 54 |33 |56 | -/8 -129,3 5 232 x M12 x 100
06271-2315X30 06271-3315X30 315 | 30H7 | 54 |33 |56 | -/8 -/33,3 5 232 x M12 x 100
06271-2400X30 06271-3400X30 400 | 30H7 | 68 |38 |63 | -/8 -/33,3 5 236 x M16 x 112
06271-2400X34 06271-3400X34 400 | 34H7 | 68 | 38|63 | -/10 -/37,3 5 236 x M16 x 112
06271-2500X34 06271-3500X34 500 | 34H7 | 79 |45|72| -/10 -/37,3 5 236 x M16 x 112
06271-2500X40 06271-3500X40 500 | 40H7 |79 |45|72| -12 -/43,3 5 236 x M16 x 112

© norelem www.norelem.com



